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ALDARYA VIDYA KULA
II ASSESSMENT —~ SEPTEMBER 2018

CLASS: VII MAX MARKS: 20
SUBJECT: PHYSICS (SCIENCE PAPER - 1) MAX TIME: 30 MIN
GENERAL INSTRUCTIONS:-

Answers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during the first 5 minutes
This time is to be spent in reading the question paper
The time given at the head of this paper is the time allowed for writing the answers
Write the question numbers clearly, follow the same system of numbering as given in the question paper.
The intended marks for questions or parts of questions are given in brackets [ ]

Question — 1
a) Fill in the blanks and rewrite the statement: [2X6=3]
(i) The ~—---mmmmeeev is the force with which the earth attracts an object.
(ii) - is the heat energy required in raising the temperature of 1g of water
by 1%.
(iii) A body in motion possesses ———------—- energy
(i) ——-m-memmmeee is obtained by splitting the nucleus of an element like uranium
(v) The =m-wemmemmmee converts sound energy into electrical energy
(vi) When Biomas decomposed in the absence of oxygen ----—---— gas is produced.
b) Write true or false and rewrite the false statement correctly: [1X4=4]

(i) The phenomenon of right appearing right and left appearing left is lateral inversion
(ii) The image which can not be obtained on a screen is real image

(iii) Chemical energy is the cause of water cycle

(iv) Value of IN is equal to 10° dyne

c) Choose the odd one out and give reason for your answer: [1X3=3]
(i) Electric bell, Battery, Loudspeaker, Stereo system
(ii) Polished metal surface, plane mirror, glass, water on the ground
(iii) Compressed spring, A blowing wind, Streched bow, Wound up spring

Question — 2
a) (i) Why weight of a body is not the same at all places on the earth?

(ii) Calculate the weight of a body having mass 10 1g = 10m/s?) [2]
b) How does kinetic energy of a body change if the veldcity is doubled?
Show working. [2]
¢) How high does a man weighing 600N climb so that his potential energy is 7500J2 [2]
d) State the two laws of reflection of light. 2]
e) Draw reflected ray and find angle of reflection from the following diagram and give reason
for your answer. \ ) 2]
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